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1. Thefree-body diagramof asatdliterotating about theearthwill show thesatdlliteisolated fromits
surroundingsand:
(A) noforceactingonit
(B) itsvelocity shownonit
(C) theforceof gravity and centrifugal forceactingonit
(D) theforceof gravity, centrifugal forceanditsvelocity

2.  Thetimetaken by asmall frictionlessbeadto dideonathinwireinthegravitational field isthe

minimumif theshapeof thewireis: ) t"k
(A) Asraghtline (B) Acydoid ( .
(C) Aninvolute (D) A parabola - / |
V. N/
3. Stahility of equilibrium of abody requiresthat : f r

d PE d PE PPE, T g9
A) —=0 B) S =_0and —£0 ¥
A g ® A ‘U(Z-:fk r

%
’PE 2 S

© dﬁ:oe\nd d >0 (D) eof theabove ‘

ds ds®

4. Arigidbody,intrandation:
(A) Must undergo planemotiononly
(B) Cannot moveonacircular path
(C) May moveaongastraight or curved path . f
(D) Canonly moveinadtraightline (“

5. Thefirst moment of triangular areaof t?% de height “h” taken about an axiscoincident with

thebaseisgivenby : -
bh® - b*h
®) bh%/ ' 4 ® bhg

R { { 1‘1-\5 © "4

6. Thesecond momen‘t‘r(* lane areaabout any axisas compared to its second moment about the
neutfdl axis: i\
(A). isdwaysmore
© is_somgi mesmore

(B) isdwaysless
(D) isequd

7. Thecoefficient of regtitutionisdefined onthebasisof :
(A) Vdocity componentsalongthelineof impact only
(B) Veacity component normal tothelineof impact
(C) Theveocity direction beforeand after thecollision
(D) Noneofftheabove
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10.

11.

12.

13.

14.

Theacceleration of aparticleisgivenby a=t3-3t2+5 m/s> wherethetime“t” isin seconds.
If the Vel ocity of theparticleat t =1 secondis6.25 m/sand displacement is8.8m, the Velocity
and displacement at t = 2 secondsis:

(A) 8m/sec, 16.1m
(©) 9m/sec,16.1m

TheD’ Alembert principle:

(B) 8.5m/sec, 16.5m

(D) 16.4m/sec, 8m

(A) ishypothetica principle

(B) providesno special advantage over Newton'sLaw
(C) isbased upontheexistenceof inertiaforces

(D) dlowsadynamic problemto betreated asastatical problem

TheCoriolisacceleration may not vanish:
(A) iftherdativevelocity of themoving point becomeszero
(B) if therotationd velocity of themoving framebecomeszero

(D) if theangular acceleration of thepoint becomeszero

Theratio of effectivelength of compression member of

shall not exceed ;
(A) 400
(©) 300

Beam fixed at oneend, supported at theother M.t

givenby:

®) 350
D) 250

4
(A) A~185 V\éL

WK
El

(C) A~185

B) A~180
(B) A=180-C

-
"N D) A~180
( (b) Az E

otheap

5

WL2

wL?

Poisson’ sRahmsaéc@stantuptoelastlcllmlt Itisintherangeof _

QA ’\\

(©) % to }g

(B) %to%
(D) %to%

l

L]

for sted.

s
/‘ .|
F

J L
(C) iftherotationd velocity of themoving frameand relatlvevelouty becoTecoLImear F

foximateradiusof gyration

rtmlform load armmvn then max deflectionis
4 X
"z L

W
Ab of sguare cross section (BxB) is used as a beam with one diagonal horizontal. The
locationlof the maximum shear stressfrom the neutral axiswill beat adistanceof :

(A) Zero

0.25B
© 2
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15. Themaximum stressproducedinabar of tapering section under direct tensionisat :
(A) largerend (B) smalerend
(C) midde (D) anywhere

16. If acompositebar iscooled, thenthenature of stressinthe part with high coefficient of thermal
expangonwill be:
(A) Tensle
(C) Compressive

(B) Zero
(D) Noneof these

17. Whenacantilever isloaded at itsfree end by adownward |oad, maximum compressive Stre ‘:‘
shdl developaat : / |
(A) bottom fiber (B) topfiber v/
(C) neutra axis (D) centreof gravity ( F
18. Thestability of adamischeckedfor : \ v ¥
(A) tensionatthebase (B) overturningof the a0 \ F
(C) didingof thedam (D) Anohh@ (

19. Theeffectivethicknessof afilletwddis:
A

S
(©) 71408
whereSissizeof weld.

B %.GI
© o5 y
14 '

20. Whenaclosely coiled spring is subjectedifo ah axial load, itissaid to beunder :
(A) Bendingonly ) i (B) Shear Only
(C) Torsionand shear - (D) Noneof these

ia
21 Polar moment of inertiaof a8plid $heft of diameter “D" is:

nD? oy b, (¢ nD?
AT J} | ®) 16
I pf - nD*
(C)( e ]\ O —
22. Whenasolid shaft is subjected to torsion, the shear stressinduced in the shaft at itscentreis:
(A) Zerge (B) Minimum
(C) Maimum (D) Average
"r
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23. Stiffnessfactor of abeam fixed at oneend and ssimply supported at the other end for rotation at
smply supportedendis:

) 3E% ®) 4E%
© °%( o ¥

24. Two simply supported beams of the same span carry the sametota load. If thefirst beam carries‘
thetotal load asapoint load at its centre and the other uniformly distributed over thewholespali' <

thentheratio of maximum dopesof first beamto the second will be: 1

A) 1:1 B) 1:15 a4 /‘.'

(©) 15:1 D) 2:1 r r
25. Theendrotationfor thegivenbeamis: : - g0 '

, < - & 3
éazzzzzzzuzz%”?X A { :
NIEE ITAL‘\
0.25 —*
) El EI
ML3
0.25—

26. Thetotal strain energy of trusselement is500 joulesand it carri ldfforceof 100KN. The

extension of themember is:

(A) 1mm < (( ®) 2mm

(©) 5mm ) A (D) 10mm
27. Cadtigliano’stheorem fallsunder thecategory of :

(A) Displacementmethod = ;f: (B) Equilibriummethod

(C) Forcemethod ( ““ (D) Stiffnessmethod
28. Arodisstressedto N/mm? mtenson TheEfor therodis200 KN/mm?. Thestrain energy

pext.cubicmeter.will

(A) #6.25x10° 4 (B) 5.0x10°

(C) 2.5x10° (D) 1.25x10°

29. Therotatiohof thefr d of acantilever beam duetoa5kN loadis0.001 rad. Thenthe
deflectiofrof thefree%i duetoamoment of 120 kN-mis:

A) L (B) 24mm
(C) 3.6mm . (D) 4.8mm
" r
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30. Thefixedend moment M_, , for thebeam shownintheFigbelow is:

31.

32.

33.

35.

36.

37.

38.

p W N
A X B
e [2———— [—R
A 10W L2 g SWL
) 192 B) 48
11WL w2
© 48 ©) 48 %}
P
Moment distribution method isbest suited for : ( "
(A) Indeterminatepinjointedtruss (B) Rigidframes a a™ / . -'
(C) Spaceframes (D) Trussed beam r r
The carry-over factor for aprismatic beam element with far end fixedis: . | - ‘B '
(A) 1 (B) 05 < :_ r
(C) 0.33 (D) 0.250 { { ‘
Thecolumnand ogy methodisapplicablefor theindetermi K uré ing maximum redundancy
equal to: .
(A) 1 B) 2
© 3 (D) Noli

Thenumber of unknownsto bedeterminedin the stiffnessmethod
(A) Staticindeterminancy

4

tet

u{to :

(B) Kinemalicindeterminancy

(C) Sumof gaticandki nemticindetern,'w?y (D) Noneotitheabove

Which of thefollowing sectionswill ng_e‘naxi mum shapefactor ?

(A) Square .
(C) Diamond <«

| F 1\
The shapeof influence ined(ag
beamis:
(A) Rectangular & 4

(C) Parébolic °

(A) Simplebeam

Thevarigtion of influ

(A) Li

(©) Ciretler,

ElJ-49854-A

(C) Redyndant truss QL

(B) Circular
(D) Triangle

rarpfor the bending moment at mid spanin asimply supported

(B) Triangular
(D) Circular

F
TheMuller-Bredau prin Qor influencelineisapplicableto:

(B) Continuousbeam
(D) All of theabove

linefor vertical support reaction of agtatically determinatebeamis:

(B) Parabolic
(D) Noneof theabove

[Turn over

[ BN

www.examrace.com



39.

40.

41.

42.

43.

45.

46.

Theareaof theinfluencelinediagram for thereaction at the hinged end of auniform propped
cantilever beam of span“L” is:

@ Y ®) 3%
© Y, O Y%

Thetota areaof theinfluencelinediagramfor shear forceat mid spaninasmply supported beam
of spanlLis: 1

V. ¥

© Y% ©) Y% ¢

- |

“ o
(A) L% (B) Zero _,(2 .'
"F

A two-hinged parabolic archis subjected to atemperatureriseof t°C, then tHe'horlzontaIr
thrust at the support will :
(A) increase

(C) remainsame

Thelineof thrustin aParabolic archis:
(A) Funnicular Polygon

(C) Triangular
¥

Thesmply supported bending moment at the a hingeof atl‘ree hingedarchis36 kKNm. The
spanandriseat thehingeare12mand3mr ively. Theharizontal thrustinthe archis:
(A) 3KkN (B) 6 kN ¢
(C) 9kN _‘_1 (D) 12 kN
Inapproximateanaysisof bqui‘thframes under lateral loads, the point of inflectionin beamsand
columnsisassumedat : f 1 #%
(A) Span/2 il . ‘_, (B) Span/3
(C) Span/10 i ~ (D) Span/?20

B

THeeffectiveséndern = io of acantilever columnof lengthL :
(A)(o.5 Lir \ ®) Li

(©'W2 LI (D) 2L/r
Wherg, r =fadiusof gyration.

r
A40c d| ameter Ci rc)lar timber columnis4 mlong (effective). The dlendernessratio of the
columni

(A) 10 ¥ (B) 20

©) 40 F D) 20v2
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47. A soil sample(sp. gr 2.7) hasadegree of saturation of 40 % at water content of 20%. Thevoid
ratio of thesampleis:

(A) 1.35 (B) 0.03
(C) 54 (D) Noneof these
48. Sievingisnot carried out for grain sizessmaller than about :
(A) 0.75mm (B) 0.075mm
(C) 0.150mm (D) 0.20mm
1
49. If sandisinitsdensest state, itsrelativedensity is: (ﬁ:
(A) Zero B) 1 - / |
(C) Lessthan1 (D) Greaterthan1 \/J { v

50. Theratio of the shear strength of undisturbed soil to that of remoul ded soil isknowrasthe: |

(A) liquidity index (B) adtivityindex 4§ vy
(C) relativeconsistency (D) sensitivity { 1% F
%
-
51. Tausisasoil transported by : ' # *‘
(A) Wind (B) i
(C) Gladiers (D) Glacid tills

52. Darcy’s Lawisapplicableif asoil is: 3
(A) incompressble (B) homogeneous V.

(C) isotropic 4 ( (D) AIIoftlF‘

53. Thehydrostaticprewreonaphreaticlir\ea‘als. b
(A) Atmospheric ) (B) LessthanAtmospheric
(C) Gresater than Atmospheric - (D) Noneof these

L 2
54. Liquefaction can bepreventéd byf;
(A) providingfilters p
(B) increasjngtheseaag' elehgthcgftheflow
© Ioweringthewg table
(D)#AIl of these %

o
55. Thehorizonta GeostathF&at adepth of 4minauniform deposit of soil havingKb=.5and

Y, = 16.5kN/m?is:
(A) 16.0KN/m? (B) 22.0kN/m?

(C) 33.0°kN/m? (D) 66.0kN/m?
whereKlb isBoussinesg'sinfluencefactor.

56. TheshearStressbelow apointload of 2tonsat adepth4minasoil massis:

(A) Zero F (B) 2t/m?
(©) Wnv (D) Noneof these
ElJ-49854-A 3 [Turn over
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57. If the coefficient of volume change and the coefficient of permeability of a soil mass are
2.91x10* m%kN and 3.4x10°m/sec then the coefficient of consolidationwill be:
(A) 11.91x10°*m?/sec (B) 3.62x10° m?/sec
(C) 9.82x10* m?/sec (D) 9.89x10° m?/sec

58. If instead of single drainage, the number of drainage faces are increased to two, the rate of
compressionwill be:
(A) 4timesdower (B) 2timesdower
(C) 4timesfaster (D) Noneof theabove

b

1
59. After the complete consolidation of asoil mass, the effective stressbecomesequd to:\‘II - / .
f L]

(A) theporewater pressure (B) theneutra stress e
(C) Bothof these (D) Noneof these ( F
1
60. Sheepfootrollerisidedly suited for thecompaction of : ’t "r
(A) cohesivesoils (B) cohensionl soﬂ{ "‘"*
(C) bothtypesof soils (D) Nonpeof h@e
61. Anunconfined compressontestisgoodfor : _
(A) Granular soils (BY Saturaed cphesivesoils
(C) Bothgranular and cohesivesoils (D) None@ft
62. A deviatoricstressisgivenby : £
(A) o,+0, ‘((B) 01—03|
0, +0 ]
© =5 V4 (D)

63. Themaximum pressurei ntensityz \fg'h| chasoil can carry without shear failureisknown asits:
(A) safebearing capacity b, (B) ultimatebearing capacity

(C) netsafebearing sz)acny \ ‘ . (D) net ultimate bearing capacity

64. The bean ng capacity f&:tor for local shear failure, are determined with respect to:
(A) gaveragecand o p ers (B) increased c and reduced ¢ parameters
(C) decreasedcandin ¢ parameters (D) reduced cand ¢ parameters

(A) icgravity of thesoil (B) shear strength of the soil

©) esbility of th

65. Theviécosi' ty of the greut pumped into weak soil dependsdirectly onthe:
hjgzoil (D) degreeof saturation of thesoil

ElJ-49854-A 10
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66. Inaplateloadtest, the ultimateload isestimated from the load-settlement curve on alog-log
graph:
(A) Directly
(B) By drawingtangentstothecurveat theinitia andfina points
(C) By thesecant method
(D) Simply at 0.2% of the maximum settlement

67. Pilefoundationsareprovidedto:
(A) carryloads (B) resisthorizontd andupliftforces .

' &
(C) compact aloose cohesionlessdeposit (D) All of these ( 1
|

68. The efficiency of pilegroup dependson: /‘

(A) soil type (B) methodofpllelnstallanon r f

(C) pile spacing (D) All of these . X '

< - &

69. Themethod of diceswasfirst suggested by : \ { ’ F

(A) Taylor (B) Bi Cp‘\.

(C) Fdlineous (D) Merzaghi

70. A dopeisconsderedinfinitewhen:
(A) itslengthinthethirddimensonisinfinite
(B) thedant heightisverylarge
(C) thebaseof embankment isvery long Y |

(D) Allof these 4 f
2c cot o ‘“

71. Tohavezeroactivepressureintens t)‘aahqgop of awall in cohesive soil, onecan apply a
uniformsurchargeof intensity :

(A) (B) 2ctana
‘ ,
(©) —2ccota < 2% (D) —2ctana

€ e

72. Anunsupported vertigal cut may t!émadein cohesivesoil toaheight of :

(A) %tan[%ﬂ‘/} (B) z%ta” 4549 |
(C{ 43” tan [45 %}\ (D) %tan [45 %}

73. The p; re diagram below the dredge line of an anchored sheet-pile wall embedded in
cohes@nlesssoil is:

(A) r ular (B) triangular
(C) triaggularthenrectangular (D) parabolic
r
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74.

75.

76.

7.

78.

79.

80.

Dynamic Magnificationfactor istheratio of :
(A) saticforcetodynamicforce
(C) dynamicdeflectionto static deflection

(B) dynamicforceto dtatic deflection
(D) dynamicforceto staticforce

TheWestergaard equations are used for analysisof :

(A) dayey soils

(C) black cotton soils

Under reamed pilesarenormally :

(A) Precastpiles
(C) Drivenpiles

A lubricant 100 timesmoreviscousthan water would haveaviscosity (in Pa-s) :

(A) 0.01

© 1

Kinematic Viscosity and specific gravity of acertainliquid

viscogty of liquidinS.l. unitare:

(A) 1.116Ng/m?
(C) 1.489Ns/m?

Inthelaminar boundary layer flow over aflat plate, theratio (6/x variesgs:

WUo e (77

(A) Re

() URe

of flow.

(B) sedimentary soils
(D) cohesonlesssoils

(B) Boredpiles
(D) Sunkenpiles

(B) 0.1
(D) 10

"n-

(B 1.31

(D) Re*

5. 585iok$and 2r

|vely. The

whered istheboundary layer thi ckneﬁtxi ><(sthe distancefror theleading edgeinthedirection

s 2
Theturbulenceinwhich theprodu&s and squares of thevelocity component and their derivatives
areindependent of direction |¢cal I
(A) isotropic

(C) ani sotroplc J

-

oplastlcflwd

81.
(A x>
(C) Xl/7
82. For
(A) <1
© >1
-
ElJ-49854-A
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!

)

Th aml nar boundary Iﬁl cknessvariesas:
i 1jow consistency index is:

(B) potentid
(D) laminar

(B) xv2
(D) x&7

®) =1
(D) oo
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83.

85.

86.

87.

If thefluid entering the pipeisturbulent and the vel ocity in thetubeisabovecritical thetransition

lengthis:
(A) 40to50timesthe pipediameter (B) 10to30timestheentering velocity
(C) 20to 30timesthe pipediameter (D) Noneof theabove

If the pressure on the surface of an oil (s.g=0.8) tank is0.1 kg/cm?, the pressure head at adepth
of 25mis:

(A) 1mof water (B) 2mof water

(C) 3mof water (D) 3.5mof water ‘

A vertical rectangular plane surfaceissubmerged in water such that itstop and bottom surfacesar /
1.5mand 6.0 m respectively below thefree surface. The centre of pressurebelow thefréesurface
will beat adepth of :

(A) 3.75m (B) 40m - |
(C) 42m (D) 45m <A -fr‘
A jet strikesastationary plate normally with avelocity of 8 r’n.éséqd the péte &{fersaforce of
120 N. The power obtained, inkW is: »

(A) 0.96 B) 84 |

(C) Zero (D)f 958 |

Which of thefollowingisadimensionlessnumber ?
(A) Manning'scoefficient“n” (B) Plpefrl |onfact‘pr“f"
(C) Chez'scoefficient“C” 4 ((D) Hazen- coefficient C,

88. Themomentum correctionfactor “3” forf@mihar flow through acircular pipeis:
(A) 15 } y (B) 2.0
(©) 1.67 (D) 133
89. Thecontinuity equationisbased; u’gon theprincipleof :
(A) Conservetionof energy § (¢ (B) Conservetion of momentum
(C) Conservationof rTFss \ (D) Noneof these
90. Forahydraulicaly effi:l t rectangular channel of bed width 4.0 m, thedepth of flow is:
(A)#4.0m tg (B) 80m
(C} 1.0m (D) 20m
91. For a{gro‘r of 10% inthe measurement of head over abroad crested weir, theerror in discharge
willbe:
(A) 1086 (B) 5%
© 15% ' (D) 25%
-
r
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92. Theflow will beinsupercritical stateinthefollowing profiles:

(A) M, S,and M, (B) M., S and M,
(©) S, S,andM, (D) S, S,and S,

93. InaSutrowaeir, dischargeisproportional to:
(A) H” (B) H
(C) H3/2 (D) H5/2

94. Apumpisrequiredto deliver 150 L/sat ahead of 45 mwhen running at 1750r.p.m. Thespecifict &
speed of thepumpis: ( .
(A) 174 (B) 39.0 - / |
(C) 89.0 (D) 1233.0 \/J { v

95. Water ispumped through apipelineto aheight of 10 mat therate of 0.1 m*/sfrictional and other

minor lossesare 5 meter. Pumping power required, inkWis: <1l vy
(A) 14.70 (B) 9.80 1 .Y F
(C) 200 (D) 133°4 &, { (
. _‘ N
96. Theory of probability isappliedto: -
(A) accidenta error only (B)f conditiond grror

(C) bothaccidenta and cumuletive (D) residug ergor

97. Theshrinkagefactor of an old map is24/25 and R.F is1/2400 then the F)rrected scalefor the
mapis: 4 '
(A) 1/2400 ( (B) /2500
(©) 1/600 ‘1 { (D) 1/60000

98. Ifthelengthof achainlineadongagepeof “o” is”l” therequired dopecorrectionis:
(A) 2l cot? o2 4 2 (B) 2lsirto/2
(©) | tan? o/2 . ) (D) | cos® /2

99. Whichof thefollowingisthemast r’r'édsei nstrument for measuring horizonta distances?
(A) MetdlicTape g, (B) Steel Tape
(C)Tacheometer ‘ (D) Telurometer

o
100. Thewholecirclebeari n@ine, whose quadrantal bearingisS19° 30’ Eis:
A) 19° (B) 199°

(C) 160 )‘ (D) Noneof theabove
101. Thevadeof dip at themagnetic poleis:

(A) 0 (B) 45°

(C) 90° - (D) Noneof these
ElJ-49854-A 14
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102. Thedifference between faceleft and faceright observationsof atheodoliteis ,theerroris:

(A) (B)
© (D)
103. Theclosing error can bebalanced by :
(A) Bowditchrule (B) Trangtrule
(C) Working accurately latitudes (D) Either (A) or (B) asapplicable

v
104. If “N” isthenumber of stationsand theleast count of theinstrumentis ,thenthelimiton tPf&naular error of
- |
V. N/

closureintraversing should not be: /
(A) <20N (B) >20N .
(©) <20 D) >20JN ¢ i
d | T
105. What will bethe correction for curvaturefor adistance of 1000 m ? - ’ £ v 3
(A) .0673m (B) .0785m { it
(C) .0568m (D) Nope®f ﬁ#@e (
3 _J 1

106. Thereading on a4.0 m staff at apoint isobserved as 20895 m. If the staff was 8 cm out of the plumb line, the

correct reading should havebeen:
(A) 2.8800m (B) 2.893fm
(C) 2.8600m (D) 2.993
107. If thedegree of acurveis1’ andif chainlengtij $80 m, then theﬁu’s of the curveisequal to:
(A) 5400m < (B) 1720m
1720 y 5400¢
(© n m = j, (D) T m

s 2
108. Thelong chord and tangent I‘uﬁgih‘_pf acircular curveof radiusR will beequal if theangle of deflectionis:
(A) 30° _ p (B) 60°
(C) 150° ‘ b { (D) 120°

(A)g1/5rad ¥ (B) /10rad

109. If theradiusof aci rc‘:ﬂl* \Rrveisfiveti mesthelength of atransition curvethenthe spira angleisgivenby :
(C) /20 rad (D) 1/40rad

110. The reéyltaﬁt of twoforcesPand QisR. If Qisdoubled, the new resultant is perpendicular to B, then
(A) P=R (B) Q=R
© P:\3 (D) Noneof theaboveiscorrect
-
r
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111. Themass moment of inertiaof arectangular plate of massM and sidesaand b about an axisperpendicular to
platethroughitscentreis:

M, M 5
A S @+b) ® - @+b)

© 15 +b) ©) 'V'(aT%J

112. Twocircular discsof sameweight and thicknessare made from metal shaving different densiti e?dvh chdiscwill

havethelarger rotational inertiaabout itscentral axis?
(A) discwithlarger density (B) discwithsmaller density 1 /
(C) bothdiscswill havesamerotationa inertia (D) Noneof theabove r’ > r
113. For abody subjected to hydrostatic static state of stress, the shear stress on a,plane inclined at anangleof 45
withthehorizonta will be: 1 F
(A) maximum (B) mnm;n
(C) zero (D) 5Q% or hy rostatic pres!ure

114. For theflow to bedefinitely laminar in apipe, thevalugbf R oId number should be:

(A) <2000 (B) 2500
(C) 5000 D) > 500
115. For critical flow inarectangular channel for adischarge per unit I of'25 cumec, thecritica depthwill be:
(A) 2.1m L (B 15m
(C) 4m .‘{ (D) 275m
116. Theintensity of pressure devel oped.by‘surface tension of 0.0075 Kg/min adroplet of water of 0.075 mm
diameteris: L 2
(A) 0.08 Kg/cm? <2 N (B) 0.06Kg/cm?
(C) 0.04Kg/cm? ( b, (D) 40Kg/cm?

117.1f there are n pip:?s:Lf same diameter d laid in parallel in place of a single pipe of diameter D,
theng;

afa-2. ",\ © 0=

n
| D
) (©) d=—55

© d=
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118. If F isthe Froude number for aflow inatriangular channel, thenthe Froude number for samevel ocity and same

depth of flow in rectangular channd will be:
(A) F,

i
© J ©)

119. Shapefactor isaproperty which depends:
(A) only ontheultimatestressof the materia
(C) bothonyield and ultimate stress of material

120. Therigid-jointed planeframeshowninfigurewill :
(A) swaytoleft
(B) swaytoright
(C) notsway atdl
(D) may sway toleft or right

4
il

ElJ-49854-A 17

B) VJ2F

! \
depending upon the magnitude of Udl -
Efni

(B) only ontheyield stressof thematerid \ {
(D) only onthegeometry of thesection

€«
AT /‘_J
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